The data below contains two complete events along with bracketing lines. Analyze each of the two events and plot them on a graph. The rows and columns have been labeled to facilitate communication.


A
B
C
D
E
F
G
H
I
J
K
L
M
N
O
P

1.
7138B004 00 01 01 25 00 01 00 01 6FCD49C1 133930.128 220804 A 06 0 -0355

2.
742D3722 80 01 00 01 00 01 3D 01 72491226 133931.127 220804 A 07 2 -0357

3.
742D3723 00 01 21 01 24 01 01 36 72491226 133931.127 220804 A 07 2 -0357

4.
742D3724 00 01 01 2A 01 25 00 01 72491226 133931.127 220804 A 07 2 -0357

5.
742D37CF BC 01 00 01 3B 01 00 01 72491226 133931.127 220804 A 07 2 -0357

6.
742D37D0 00 28 00 01 01 23 00 01 72491226 133931.127 220804 A 07 2 -0357

7.
742D37EA 00 01 2B 3C 00 01 00 01 72491226 133931.127 220804 A 07 2 -0357

8.
742D37FF 00 01 00 01 32 3F 00 01 72491226 133931.127 220804 A 07 0 -0357

9.
7FF22AB3 80 01 00 01 34 01 00 01 7EB3FC2E 133936.127 220804 A 07 2 -0339

